FHETHRRET RS KEYTHR

S HI6E125215 RRFTEHE 17,490 ke
53 RFEEHESET 4,830 ke
F&B T ES TEAE FEH RFEHE HR5E& %8
(kg) (kg) =iE & =8

FCAHER 2,000 |HY B E IR 1,000 1,890 1,620 1,188
HxTERE| E3E IR 1,000 -— 1,188 -—
HL 170 | &Y 0 — - -
RS EE] EWE 170 102 648 540
IES 130 |&Y 0 — — —
x5 IR 130 1,620 648 270
Wbl 130 |&Y 0 — — —
HxtERE| aFE 130 1,350 129 3178
FE5 400 (&Y 0 — — —
HExTERE| ERER 400 3,402 1,620 1,296
(RY) 0 scll)) 0 — _ _
A% RS 0 — — -
Mo# 0 [&Y 0 — — —
AaRER | 0 — — —
SAFE 0 |&Y 0 — —- —
A%t AR 0 — — —
ok f 2,000 |&Hik — 2,000 - — —




FHETHRRET RS KEYTHR

HRI6EIZH21H BT E 17, 490 kg
AEA AR E AR 4,300 ke
e BRE e EEAE EX BRENE AR
(kg) (kg) =iE & =8

AU 600 |tV 0 —— — —
AT ER S| R AR 600 4,536 3, 180 2,160
Mz 500 (&Y 0 e —- —-
A ER S| RIRAR 500 8,100 4,104 2,484
B 200 |€Y 0 __ —_ __
AT ER S| R 200 2,160 1,944 1,620
=0 300 |&Y 0 —- ——- —-
FAxtER 5| tiEE 300 2,160 1,512 1,188
Zf-TH 300 |&Y 0 ——- —— ——
AT ER S| dtiEE 300 6, 480 4,104 1,404
LA 400 |€VY 0 - — —
AT ER S| TR 400 4,860 2,160 1,296
=) 0 (&Y 0 — - —
sl 0 — — —
o5 E A 2,000 |&A% — 2,000 —- — —




FHETHRRET RS KEYTHR

LRIGEIZH21H HRRTEHE 17,490 kg
BEFmMIG REHEESE 8,360 kg
I BRFEHES TEAE FEH HRFEE BRcE4E
(kg) (kg) =iE & =8

5 300 | €Y 0 — — —
HE*TER S| dtiEE 300 3, 456 2,268 1,080

EXH 50 |t&UY 0 — — —
HExtERE| dtimE 90 3,240 2,430 1,620

e AR 50 |[EUY 0 — -— —
izpopiE] dbiEE 50 15,120 10, 800 6, 480
BIRF 100 (&Y 0 — - —
HEXTES| fahE 2 100 5,616 3,672 1,728
y::Bi 3,000 (VY 0 — S —
HE*TER S| EHEHE 3,000 2,376 1,620 486
Af-C 160 |&Y 0 — — —
HE*TER S| IR 160 3, 780 3, 456 3,024
BE S 2,700 |&UY 0 S - —
HEXTE S| R 2,700 1,300 950 595
hoEFMMT 2,000 |&AH% — 2,000 — - —




